Transitions 1

Cause/Effect Example/Description
accordingly because of asaresult of Jalso for instance namely
accordingly due to nevertheless |apparently furthermore obviously
as aresult of effect of since as noted in addition such as
because for this reason so that evidently in fact that is
because of if...then therefore for example most importantly to illustrate
consequently may be due to this led to

Comparison/Contrast

Problem/Solution

also different from similar to a solution to/for one reason for
although however unless another possibility the consequence of
as opposed to instead of unlike furthermore the problemis
as well as on the other hand while one answer to the question is
but oposite of yet
comparedto same as
Conclusion Supporting Details
accordingly consequently in other words |another possibility |agree that nevertheless
after all finally therefore even though in addition one reason for
as aresult in conclusion first of all moreover the consequence of
for example most importantly while it is true that
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Transitions 2

To Show Location

above away from
across behind
against below
along beneath
among beside
around between

beyond
by

down

in back of
in front of
inside

into over

near throughout
off to the right
onto under

on top of

outside

To Show Past, Present, Future

To Show Specific Time

last week

last month

last year

many years ago

when I was ___ years old
when | was young

when | was little

first thing in the morning
at 10:00 a.m.

at noon

at bedtime

at lunch

To Show Time or Sequence an Event

a little later at

about before
after during
afterward finally
as soon as first

immediately

in the end
later
meanwhile
much later

next third

next week till

second today
soon tomorrow
then yesterday
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Name Class Date
Teacher Reference of
Words to Facilitate the Transition of Ideas

Description Order/Sequence | Comparison/Contrast | Cause/Effect Problem/Solution | Concession
for instance first same as because the problem is Even though
such as second similar to since the question is While is true that
for example next different from consequently the consequence of I will admit
to illustrate then opposite of this let to a solution to/for I agree that
most importantly | last instead of so that one answer to Admittedly
in addition initially although nevertheless one reason for You're right that
another finally however accordingly another possibility I cannot agree with
furthermore before but because of furthermore Granted
also during as well as as a result of I accept the fact that
in fact after on the other hand may be due to I realize that

later while effect of

when unless due to

on (day/date) yet therefore

not long after compared to consequently

now as opposed to if...then

as thus
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